H & 0l & AHS B Ml A

A nSHEL
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wSHF 14,616,512 18,433,471 3,816,959
= 1,232,400
[ 257,000
= 1,163,920
Al 11,963,192
UHEns SH(NSSF[/HsnsS - S/SIIE) 14,579,192 18,396, 121 A\3,816,929
= 1,232,400
[ 257,000
= 1,163,920
Al 11,925,872
Hsussd 11,887,563 11,541,004 346,509
= 1,230,900
= 257,000
= 1,162,420
Al 9,237,243
Hsus =4 16,900 13,000 3,900
201 fer= 3| 10,400 13,000 A2,600
01 At 2|l 10,400 13,000 22,600
OZEt=EH| 6,400,000& 6,400
O= gl 2,400,000 2,400
O3 =& 1,600,000 1,600
202 04t 4,500 4,500
01 =LHOHI 4,500 4,500
OZ2E£d 0| 4,500,000 4,500
203 =4 2,000 2,000
03 A=A H R FZ| 2,000 2,000
OAI B FTHR =] 2,000,000& 2,000
Hsnssd g2X 185,000 185,700 AT700
201 el 185,000 185,700 AT700
01 At22t2lt] 8,000 0 8,000
OSsgJl itz 8,000,000& 8,000
2 s5=34l 177,000 185,700 A8,700
Otlz2s 2 §&J| ML=
12,500,0002 122 150,000
OF2IHSIM et SHRs
750,000 * 122 9,000
OoHAsHE 2E91 ML=
25,0002 *60CH* 123 18,000
HESuSHAH KA 290,192 502,285 A212,093
101 @124H| 9,192 18,785 A\9,593
04 JIZtNZ22 NS+ 9,192 18,785 29,593
OAlUHA == AA 9,192,000& 9,192
201 et 3| 139,000 74,000 65,000




SH: DEXZ
My (ZDE SH(DELYSH/HELS - 2RSIIE
=t sussyd EEED
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
01 AtR2telt] 95,000 6,000 89,000
OAILIHA (B8)dE M & &X
30,000,000 30,000
OHAFEAIAE(BIS) RXE=
45,000,000& 45,000
OHAZZAIAR(BIS) 2TES0 Jls A
20,000,000& 20,000
02 E324H| 44,000 68,000 224,000
OAILHHA ZHI WXl 20,000,000 20,000
OAILHHAFEOHN S| SRS
12,000,000& 12,000
OAILHHAZEZ Ot &2 MIIRS
12,000,000 12,000
207 A IHLH| 142,000 172,000 A30,000
01 ¢ EGH| 142,000 172,000 230,000
OXNsSEUSHMAH(ITS) J2HE s
100,000, 000& 100,000
OANUHHA 2E2IHSIHZAL L SHIEA
2AELF ME Z9 22,000,000& 22,000
OAMEBE SSAILA 2SRt MEES
20,000,000& 20,000
AMUHA 22 85 A28z X 30,000 30,000 0
307 QI2Hol A 30,000 30,000
2LHHEXZ 30,000 30,000
OAlUHA 2 EsEA2dZ3 AR
30,000,000 30,000
ANAHAEDIE 29X 36,000 36,000 0
206 =4l 4,000 4,000
01 M=l 4,000 4,000
O3=3&4 MESE 72 X
1,000,000 42 4,000
307 QI2H0| A 12,000 12,000
02 QIRHHAAIHE X 12,000 12,000
OZ2AAHAEHDIE K&
12,000,000& 12,000
402 SI2ERH=0IH 20,000 20,000
01 QIZEXH2 AL 2 2 (REAITH &) 20,000 20,000
OARIHAEHDIE 234
20,000,000& *124 20,000
AMUBHA =2 s THE X 4,329,000 4,329,000 0
= 100,000
Al 4,229,000
307 QI2H0l A 4,329,000 4,329,000 0
& 100,000
Al 4,229,000




A nSHEL
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
09 2+AE2LS 4,329,000 4,329,000 0
oHl==d ME X 4,329,000,000& 4,329,000
= 100,000
Al 4,229,000
SYESE0 SMEYS 30,000 20,000 10,000
s 9,000
Al 21,000
307 21201 & 30,000 20,000 10,000
< 9,000
Al 21,000
Q0 2=FAHEXS 30,000 20,000 10,000
OBABBHO EADT
30,000,000& 30,000
= 9,000
Al 21,000
gAsd 2424 N2 145,000 145,000 0
[ 44,000
= 52,000
Al 49,000
307 elztol & 145,000 145,000 0
= 44,000
< 52,000
Al 49,000
09 2+EAE2LS 145,000 145,000 0
OHXd =A2H= 145,000,000 145,000
= 44,000
== 52,000
Al 49,000
2EUSIHE A OtelX X 9,400 4,200 5,200
= 4,700
== 1,880
Al 2,820
308 AHXIHMSO0IA 9,400 4,200 5,200
= 4,700
= 1,880
Al 2,820
183 S| 2SO ZB XA AIE 9,400 4,200 5,200
OgsWSIHE el X2
9,400,000 9,400
= 4,700
= 1,880
Al 2,820
AMUHA WSIH=01E =8 2d 30,000 30,000 0




A nSHEL
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 30,000 30,000
00 SXAHSES 30,000 30,000
OLEIS0Ig 242 BH
30,000,000& 30,000
NatgiA 2 X2 920,000 276,000 644,000
= 460,000
= 230,000
Al 230,000
307 el2to| & 920,000 276,000 644,000
= 460,000
< 230,000
Al 230,000
09 2s-AE2LS 920,000 276,000 644,000
OM&HA 2 X 920,000,000 920,000
= 460,000
< 230,000
Al 230,000
oA 2 X 1,160,000 420,000 740,000
= 560,000
== 160,000
Al 440,000
307 212+01& 1,160,000 420,000 740,000
= 560,000
=S 160,000
Al 440,000
09 2FSHEXS 1,160,000 420,000 740,000
o&JItA g X&E 1,160,000,000& 1,160,000
= 560,000
= 160,000
Al 440,000
238 Al X2 (SetE5|LAIEEA]) 434,600 373,000 61,600
[ 213,000
= 106,500
Al 115,100
201 er2 3| 8,600 7,000 1,600
01 AtR2t2|HI 8,600 7,000 1,600
OECtE S| S AL Al NFCItE &
3,200,000& 3,200
O=LSEE HSLS(RT) AIAE AIER
5,400,000 5,400
301 EtE N = 426,000 366,000 60,000
= 213,000
[ 106,500




A nSHEL
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 106,500
14 0Bt 243 426,000 366,000 60,000
OSPBILAIREA AL
426,000,000& 426,000
[ 213,000
= 106,500
Al 106,500
g RIHEX 2,446,000 3,446,000 1,000,000
307 @I2to| & 2,446,000 3,446,000 1,000,000
00 2FSHEXS 2,446,000 3,446,000 1,000,000
OHA RIIEXS 412,000,000& 412,000
O=Al RIIEXS 1,008,000,000& 1,008,000
Ozt RIE2X= 1,026,000,000& 1,026,000
BA2ENHE 81,071 117,469 36,398
207 ARl 22,000 0 22,000
01 =S| 22,000 0 22,000
OMIBAF EHAl SEN 2SS
22,000,000 * 14! 22,000
307 212+01& 53,868 110,868 A57,000
0 2= HEXS 53,868 53,868 0
O=Al S&lHl X2 32,868,000 32,868
OEAl 2XtAHIA X2 21,000,000& 21,000
402 2IZtA=01d 5,203 6,601 21,398
03 2IZ+RAETAIZ I 5,203 6,601 1,398
ORAZHI22ACIANAY 2L
5,203,000& 5,203
WS OlsEsd 560,000 692,400 132,400
307 212+01& 560,000 500,000 60,000
05 2ItRIE = 560,000 500,000 60,000
OuSAI SHAl 24| X
560,000,000 560,000
BARs JtEZM =2 K& 100,000 100,000 0
= 50,000
Al 50,000
307 gl2to| & 100,000 100,000 0
=S 50,000
Al 50,000
09 2FSHEXS 100,000 100,000 0
OHAR= H=ZM =2 K&
100,000,000 100,000
< 50,000
Al 50,000
EBAIZRIE A I~ 68,000 128,000 260,000




A nSEF
M EnE S (NELEF/UHEnS - EFSIIE)
el Hsussd EER=E)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
= 15,600
Al 52,400
301 LetENEZ 68,000 128,000 A60,000
= 15,600
Al 52,400
14 J|EI2 A3 68,000 128,000 260,000
OSAZXE L XA 68,000,000 68,000
= 15,600
Al 52,400
MEZE 2 2435t 675,000 350,000 325,000
= 450,000
Al 225,000
307 2I2+0l ™ 675,000 350,000 325,000
= 450,000
Al 225,000
09 2LAHEXS 675,000 350,000 325,000
OMEZE =aB4s 675,000,000& 675,000
& 450,000
Al 225,000
nsz2d Xl XA 26,200 41,000 A 14,800
301 LEBEF 1,000 8,000 A7,000
11 HARHIXIE S 1,000 8,000 A7,000
O2=gM AR2A 2tgs &4 X3
1,000,000& 1,000
307 QI2H0| M 25,200 33,000 A7,800
02 QIR LA B X 16,200 23,000 26,800
OAIEAl SEH2AEXE NEXT S3SAY
82X 13,500,000& 13,500
O=MHOHLI3 ESAtE B=x
2,700,000& 2,700
04 CIZHSHALAIRIE & 9,000 10,000 21,000
OAIE A 2= AHA HSUE K&
9,000,000& 9,000
WSAUX T EHAl 167,000 0 167,000
= 50,000
Al 117,000
301 LetEEZ 167,000 0 167,000
= 50,000
Al 117,000
14 JIEt2 43 167,000 0 167,000
OIS HEAl 24d| X&
167,000,000& 167,000
= 50,000
Al 117,000




A nSHEL
¥ Usns SH(USYLSF/UsnsS - =7SIIE
el Hsussd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Usws g2 X K-HA) 16,200 0 16,200
= 7,600
== 3,040
Al 4,560
308 XXM SOIA 15,200 0 15,200
= 7,600
=S 3,040
Al 4,560
183 SIS B XA AIE 16,200 0 16,200
otisnsH &8 X3 K-H2)
15,200,000 15,200
= 7,600
= 3,040
Al 4,560
SEuS=Y 2gH X2 133,000 0 133,000
= 133,000
307 el2to| & 133,000 0 133,000
= 133,000
05 2IIRIE =3 133,000 0 133,000
OSguS=H 2g4| X2
133,000,000 133,000
= 133,000
wWSAIE=E 2el 2,521,150 6,688,000 A4,166,850
BOAIEE &R 2el 660, 150 293,000 367,150
201 er23| 400,150 103,000 297,150
01 At2teltl 272,950 70,000 202,950
OEEIEFIY itz
201,400,000& 201,400
OZEPEFIE X2 (0IX=2)
11,550,000& 11,550
OHASZE W AHE9Z HMIA
60,000,000 60,000
2 35234l 127,200 33,000 94,200
OoHAsZdd 2B dH| 120,000,000& 120,000
O2g2A FAE= 7,200,000& 7,200
401 Al HIZ R 0HbI 260,000 190,000 70,000
01 AlZ28| 260,000 190,000 70,000
OAlUH A =&HE S2E e
150,000,000 150,000
OoHAs2dd RAE= 50,000,000 50,000
OB ACHAEXE &X 30,000,000& 30,000
Oy - LAFXY =2+
30,000,000& 30,000
CHNAIE = £X| 22l 1,468,000 1,860,000 A392,000




A nSHEL
M (Z0E SU(DSYSE/HEDS - 2RSIIEN
Cel: WSAE=S 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 8,000 10,000 22,000
01 At2teltl 8,000 10,000 22,000
ONSAIEE HIIQFFAR
8,000,000& 8,000
401 Al HIZ S OHbI 1,460,000 1,800,000 /340,000
01 A28l 1,460,000 1,800,000 340,000
OusL=I| Xl 100,000,000& 100,000
Ok= WSHSI| wH 100,000,000 100,000
ogt=2: I €X 50,000,000 50,000
OusSASHMOII W 100,000,000 100,000
OFUNSAIY| X UL V)
100,000,000 100,000
OAlU=2t NSC-HIEAl & & 2el
350,000,000 350,000
ODSAIZAID LMt DEOTALE
& 50,000,000& 50,000
OEIAIL XS wSHTAILE A
100,000,000 100,000
ORHat #2 R NSAMAEE A
100,000,000 100,000
OuSAtLF A2t NEHHAIEZ A
50,000,000& 50,000
OANERES &1 & 2l
50,000,000& 50,000
ogad nSHMHEAT &X
80,000,0002! 80,000
ONEATALE RXB4
100,000,000 100,000
OALESZE HEAMY 130,000,000 130,000
2l FEI SA7S HAEH TZAIAY 20,000 20,000
401 A2 HIZL R 0HbI 20,000 20,000
01 Al&HI 20,000 20,000
OsSNg 2i XSRS HMLH 2
AAFS 20,000,000 20,000
SN2 MM FAXFIUHE M (HEAL 123,000 185,000 262,000
2)
401 AIEBIL =2 TH] 123,000 185,000 262,000
01 A& 123,000 185,000 A62,000
OSMBY MEICSE A (EAXIERE
x4d)(2-2etH) 123,000,000 123,000
SASNIZ HIEHAMSS XA (FRIE 00 4) 180,000 180,000
401 AIEBIL 20HH 180,000 180,000
01 Al&HI 180,000 180,000
OsSARISWIIZ HIHASE X
180,000,000 180,000
EHEE HIHE USS XA (FE00) 70,000 0 70,000
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A nSHEL
¥ Usns SH(WSYLSF/UsnsS - =7SIIE
Chel: NESIst oA gt (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogt+==H| 1,000,000& 1,000
2 s5=34l 1,000 1,000 0
OssR= € MA 83,3002 123 1,000
ASi S52¢cl 38,500 42,000 A3,500
201 fer= 3| 38,500 42,000 A3,500
01 At 2|l 11,600 14,000 22,400
OSAHS B M 3,200,000& 3,200
ONEXNSE & AA HE
4,000,000 4,000
OXSIZAICHH SA M=
2,400,000& 2,400
OMEHE XA M 1,000,000& 1,000
OXNSILE 2eftldd iz M
1,000,000 1,000
2 s5=4g4l 26,900 28,000 21,100
OSAHE HEXHAAE RXI2=H|
3,360,002 3,360
ORSIZA AHAUN SRS
7,840,000 7,840
OXsX2ARLE & NHSIB AL BEHS X
N fER3 5,000,000& 5,000
ONSALREE A=A & FU0 DA
FER=S 6,500,000& 6,500
OXsxt2eld & AAR2E DI &N
E fELs 3,200,000& 3,200
OXNSARHYX MKl ot LERS
1,000,000& 1,000
VYA 2486 Mdetd X3 19,000 17,500 1,500
= 1,500
[ 1,500
Al 16,000
201 er23 | 1,000 1,000
01 At2t2lt] 1,000 1,000
OLE2dA 2HHH HAlEe WSIte
M 1,000,000 1,000
301 EtE NS 18,000 16,500 1,500
= 1,500
= 1,500
Al 15,000
14 IIEt2 83 18,000 16,500 1,500
OLNE2dA 28HA Adlghe K&
18,000,000 18,000
= 1,500
= 1,500
Al 15,000
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